Aun G486 quarnatwise, Arcl Asym: Bearm ON, Laser OFF

Flun 5498 quanetwise. ISba2 Acym: Baam ON, Lasear OFF
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Flun G488 cuanebwise, DSbg2 Asym: Baam ON, Lasar OFF

Flun G486 quanetwise, Side Fingar Aaym: Beam ON, Laser OFF
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Flun 5456 quarnetwise, LISba1 Asym: Baam ON, Lasar DFF
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Flun 5458 quanatwiss, DSby1 Asym: Baam ON, Laser OFF
Flun G488 uistwisn, Top Fnger Asyri: Besen O, Licbar OFF
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Acc0 Asym (ppt): -39.70 +/- 113.32
USbg1 Asym (ppt): 26.85 +/- 5.72
USbg2 Asym (ppt): 13.36 +/- 3.91
DSbg1 Asym (ppt): 10.74 +/- 1.71
DSbg2 Asym (ppt): 5.85 +/- 1.60

Top Finger Asym (ppt): 1.85 +/- 6.81

Side Finger Asym (ppt): -9.57 +/- 4.61
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LUShg2 vs time

Run 5496, quartetwise

iza: UShg1 vs time

Run 54396, gua
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DShg2 vs time

Run 5496, guartetwise

ize: DSbg1 vs time

Run 5498, qua
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haorizFing vs fima

Run 5496, quartetwise

vertFing vs time

Run 5496, quartetwise
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